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COMMONWEALTH STAR
Quter dia. 3/5 width of Union Jack
Inner dia. 4/9 outer dia. 7 pointed

Length of Flag (2X)

! '1}’6 width
of Fly

STAR GAMMA CRUCIS
. Outer dia. 1/7 width of fly
Inner dia. 4/9 outer dia. 7 pointed

_______________________

1.(4 width of Fly

e 1;10

= | width STAR DELTA CRUCIS

Outer dia. 1/7 width of fly
Inner dia. 4/9 outer
dia. 7 pointed

Centre of Fly

STAR BETA CRUCIS
Quter dia. 1/7 width of fly
Inner dia. 4/9 outer dia. 7 pointed

STAR EPSILON CRUCIS
Outer dia. 1/7 width of fly
Inner dia. 4/9 outer dia. 5 pointed

Middle line

. STAR ALPHA CRUCIS
. Quter dia. 1/7 width of fly
¥ Inner dia. 4/9 outer dia. 7 pointed

! 1/6 width
+ of Fly

Width of Fly




